PORTABLE LOG HORSE
ASSEMBLY INSTRUCTIONS

chainsawspares.com.auv | sales@jonoandjohno.com.au




ASSEMBLY

DANGER!

It is recommended that safety gloves are used during the
assembly of this item.

HARDWARE INCLUDED

.M8X16 "-_I "-_I "-_I -:Mh1
BOLTS w2 @ M6 X 25 BOLTS

| i L i Y 1
"

Gl aaaiR AR R

PR AR R
WASHERS ]T IT, r

0000 OO
;M$s © 00O ) wzngGERs
0 ©O© |

. The M8 bolts go with the M8 washers and nuts

. The M6 bolts go with the M6 washers and nuts

Jono & Johno Chainsaw Spares | chainsawspares.com.au | sales@jonoandjohno.com.au



CONSTRUCTION

The Handy Saw Horse is supplied with Nylock Nuts. They are designed with a
nylon collar, with a slightly smaller diameter to the bolt. The insert deforms
elastically over the threads of the screw, but threads are not cut into the nylon.
The nylon insert, locks the nut by applying a compressive force against the
bolt. This therefore requires increased pressure when assembling.

|| Firstly, pair the six legs using M8x16 bolt, two M8
washers and a M8 nut into the round hole, just below the
serrated edges.

'] Then fit a M6x12 bolt with two M6 washers and a M6 nut
into the curved slot on both legs

| When secured, ensure that the legs can be opened and
closed.

|| Secure the shorter cross strut (80cm) to your
chosen left and middle leg, using a M6x12 bolt
with a M6 washer and a M6 nut.

|| Attach the longer diagonal cross strut to the left
and middle legs, again using a M6x12 bolt with a
M6 washer and a M6 nut, ensuring the third hole,
from the floor, on the middle leg.

|| Attach the diagonal cross strut over the smaller
cross strut using the M6x25 bolt with a M6 washer
and a M6 nut.

Jono & Johno Chainsaw Spares | chainsawspares.com.au | sales@jonoandjohno.com.au



Turn the stand over and follow the same procedure with
the diagonal strut in the opposite direction to the previous
side. The diagonal strut should be fitted to the second

A
hole of the middle leg on this occasion. -___e\

THE FINISHED PRODUCT

Jono & Johno Chainsaw Spares | chainsawspares.com.au | sales@jonoandjohno.com.au



The 3 X M8 X 16 Bolts
Go In The Three Forks

2 x Long Braces

2 X Shorter Braces

Jono & Johno Chainsaw Spares | chainsawspares.com.au | sales@jonoandjohno.com.au



The Two Long M6 X25
Bolts Go Here & Here

THE FINISHED
PRODUCT

Jono & Johno Chainsaw Spares | chainsawspares.com.au | sales@jonoandjohno.com.au



SPARE PARTS

picture Part size Qty |SKU
M6 X 12 Bolt 6*12 11 |LT-80CM-A
el M8 x 16 Bolt 816 3 |LT-800ME
M6 x 25 Bolt 6*25 2 LT-80CM-C
M6 Washer Q6 13  |LT-80CM-D
M8 Washer Q8 6 LT-80CM-E
M6 Nut M6 13 |LT-80CM-F
M8 Nut M8 3 LT-80CM-G
Leg 1000 6 LT-80CM-H
Long cross brace 830 2 LT-80CM-I
Short cross brace 790 2 LT-80CM-J

Jono & Johno Chainsaw Spares | chainsawspares.com.au | sales@jonoandjohno.com.au




